
ITEM DESCRIPTION QUANTITY
VEM1-01 Silicon Reduction 1
VEM2-02 Static Equipment, Body 1
VEM2-03 Trough 1
VEM2-04 Screw for Air Gap Setting 1
VEM2-05 Gap Setting Fix Pin 1
VEM2-06 Seating Coil Cover 1
VEM2-07 Coil 1
VEM2-08 Silicon Ring 3
VEM2-09 Leaf Assembly 7
VEM2-10 Leaf Space Plate 16
VEM2-11 Leaf Fixing Plate 4
VEM2-14 Antivibrating Leg 4

ITEM DESCRIPTION QUANTITY

VEM1-16 Anti Electric Cable 1
VEM2-18 M8 Nut 4
VEM1-19 M20 Nut 1
VEM2-21 M8 x 25 Bolt 1
VEM1-22 Pg 7 Cable Gland 1
VEM1-24 M5x8 Bolt 2
VEM1-25 M5 Spring Washer 5
VEM2-27 M8 Spring Washer 4
VEM1-31 M5x16 Bolt 4
VEM2-32 M8x35 Bolt 4
VEM1-33 M8x30 Bolt 4
VEM1-36 Silicon Outer Ring 1
VEM2-39 Coil Space Ring 1

L E X / V 2  S p a re p a r t s  l i st

VEM2-03


